REF: CS/2PC21009695/Ugf3

	ASSI	IGNMENT	, /
From: Date:		Veh No: 52N 62567	Yr Regn: 1/5/17
Estimated Cost:		Type: M.Car / M.Cycle / Bus / Van / Lo	-
OD TP / WS / TP RES / OD RES / EVA / INV / M	<u>v</u>	Truck / Trailer or (A /	
To Inspect Vehicle No: SLN 6	2567	Make: Horde Ja	277 15 c.c 1498
at Workshop m/s VAC		Colour Black	A/C: Insured / Std / NI / NA
of		Sp.Reading 63374	T/Radio: Insured / Std / NI / NA
Insured:		Eng/No:	
Policy No.		C/No: JHM6	K1810HX201177
Claims No.		Gen. Cond: Good / Fair LPoor / Burnt	0.0
Sum Insured: Excess:	7.	Steering: Inorder / Jammed / Leaked /	Burnt or Offeeled
(Client's Record)		Brake: Morder / Jammed / Leaked /	Burnt or
Make of Veh:		Modi: Nil / 8/Rim / STD A/Rim or	/
(Policy Condition) Remark: The veh had commenced its	N/S O/S	Tyre Size: F: BS / PUR) / EXNOVA / GY / FS / LIZA /	MIC / OHTSI / PIR / SUMI /
repair at the time of inspection.		TOYO / YOKO or	mio / offico / file / ocimi /
Bal. or Market Value:		Front 6	Rear
IDAC Accident Rport: Consistent? : Ye	s or No	R/Bal. mm	R/Bal. mm
GIA / PR Seen: Consistent? : Ye	s or No	L/Bal. 6 mm	L/Bal. 6 mm
Est. Repairs: days Res.: Yes	s or No	D.O.A. 5/9/2/	D.O.I. 18/9/21
Lum Sum: % 3 Val.: Yes	s or No	Survey held at	_
CA / REV / REP. / 24 HRS	Vehicle: IN / OUT	Des. of Damages: Frt / Rear / O/S / N/S Reer / O/S Bob	
Date: Person Contacted:	7140	The U/C / Chassis frame / Body S	Structure affected due to collision.
Date / Time Action / Instruction LTA & 38860 Sol NOTT & 17140 awarly from regar	Syps Smth. Director c	on Phair at 45\$ 17 k	•
Date/Time, File Pass to? : Preli. Report	D	ays Of Repair:	
1) : Final Report Date/Time, File Return to?	R	esurvey No. of Trip:	Survey Fee: Transportation:
2)	Add Fee:	: Site Insp (\$)S + RS,SI
		Interior (C) Photos
Report Format :		: Tech. Invs (\$) Others
Lump Sum / I.B.I: (\$)	: Weekend (\$	



VAC AUTO CENTRE PTE LTD UEN: 200210945Z

1 Kaki Bukit Avenue 6 #02-11 Autobay @ Kaki Bukit Singapore 417883 Tel: 8618 8008 | Fax: 6636 5355 | Email: vacauto@singnet.com.sg

TYCLOSS? 16/9/21 25days. Page 1

Vehicle Make & Model: Honda Jazz 1.5 VTIR CVT

Regn No	SLN6256Z	Vehicle Make & Model : Honda Jazz 1.5 VTIR CVT						
ITEM NO	DESCRIPTION OF ITEMS	QUANTITY (Piece/Set)		T PRICE (S\$)	AMOUNT (S\$)			
	Cost Price:							
1	Front bonnet 9'S	1	\$	320.00	\$	320.00		
2	Front bonnet insulator NF	1	\$	100.00	\$	100.00 🗶		
3	Front bonnet insulator clips NN	10	\$	2.50	\$	25.00 X		
4	Front bonnet rubbers	2	\$	28.00	\$	56.00		
5	Front bonnet hinges LH/RH	2	\$	30.00	\$	60.00		
6	Front bonnet lock YwI	1	\$	75.00	\$	75.00		
7	Front bonnet lock cable 11	1	\$	90.00	\$	90.00 ×		
8	Front bonnet stand V	1	\$	60.00	\$	60.00 X		
9	Front bonnet garnish LH Cu7	1	\$	30.00	\$	30.00		
10	Front bonnet garnish RH CM1	1	\$	50.00	\$	50.00		
11	Front bumper Cu1	1	\$	420.00	\$	420.00		
12	Front bumper lower grille 41	1	\$	180.00	\$	180.00 🔀		
13	Front bumper fog lamps LH/RH 1	2	\$	185.00	\$	370.00 💉		
14	Front bumper fog lamp covers LH/RH 11	2	\$	25.00	\$	50.00义		
15	Front bumper LED lights LH/RH	2	\$	185.00	\$	370.00 X		
16	Front bumper reinforcement	1	\$	220.00	\$	220.00 ×		
17	Front bumper side retainers LH/RH	2	\$	28.00	\$	56.00		
18	Front bumper clips	10		2.50	\$	25.00		
19	Front fenders LH/RH in /3 en/	2	\$	180.00	\$	360.00		
20	Front fender innershields LH/RH	2	\$ \$	100.00	\$	200.00 ?		
21	Front fender innershield clips 4 7	30	\$	2.50	\$	75.00 🗡		
	Front grille with lower chrome/grille emblem	1	\$	275.00	\$	275.00 7		
22		1	\$	20.00	\$	20.00 ×		
23	Front grille top garnish Front grille clips	5	Φ	3.00	\$	15.00 X		
24	Front grille clips Front headlamp assembly LH/RH Front headlamp assembly LH/RH	· C ? 2	\$	900.00	\$	1,800.00 176		
25	Front headlamp lower brackets LH/RH	2	\$	30.00	\$	60.00 ?		
26		1	\$	60.00	\$	60.00		
27	Front number plate garnish	1	\$	360.00	\$	360.00		
28	Front support panel	2		45.00	\$	90.00 X		
29	Front support panel garnishes LH/RH 🔥 🗸		\$			290.00 7		
30	Front lower arm	2	\$	145.00	\$			
31	Front stabilizer link	2	\$	45.00	\$	90.00 7		
32	Front stabilizer bar	2	\$	130.00	-	260.00 7		
33	Frton wheel bearing	2	\$	98.00	\$	196.00 7		
34	Front wheel knuckle	2	\$	120.00	\$	240.00 7		
35	Front wheel knuckle cover	2	\$	22.00	\$	44.00 7		
36	Front shock absorber	2	\$	240.00	\$	480.00 7		
37	Front wheel suspension	2	\$	110.00	\$	220.00 7		
38	Front wheel drive shaft	2	\$	720.00	\$	1,440.00 7		
39	Front sub-frame lower/crossmember	1	\$	550.00	\$	550.00 ?		
40	Front sports rim ols cui/But	1	\$	560.00	\$	560.00 1pc 2		
41	Front door 100/244	2	\$	485.00	\$	970.00		
42	Front door outer weatherstrip Au	2	\$	50.00	\$	100.00		
43	Front door black sticker	2	\$	38.00	\$	76.00		
44	Front door visor NZ	1	\$	180.00	\$	180.00 ×		



Page 2 Vehicle Make/Model: Honda Jazz 1.5 VTIR CVT

Regn No : SLN6256Z

TEM NO	DESCRIPTION OF ITEMS	QUANTITY (Piece/Set)	l	JNIT PRICE (S\$)	Al	MOUNT (S\$)
	Cost Price:					
45	Front side mirror RH. 310	1	\$	250.00	\$	250.00
46	Front door glass RM Shother	1	\$	360.00	\$	360.00
47	Front door inner weatherstrip	2	\$	60.00	\$	120.00
48	Front door quarter glass Shorter	2	\$	240.00	\$	480.00
49	Front windscreen glass 600	1	\$	1,200.00	\$	1,200.00
50	Front windscreen top moulding Au	1	\$	50.00	\$	50.00
51	Front windscreen side mouldings 1	2	\$	80.00	\$	160.00
52	Front roof panel 5000 7	1	\$	630.00	\$	630.00
53	Front roof outer lining	2	\$	155.00	\$	310.00
54	Front roof inner rail panel - front But	1	\$	65.00	\$	65.00
55	Front roof inner rail panel - centre 1	1	\$	110.00	\$	110.00,
56	Front roof inner rail panel - rear	1	\$	125.00	\$	125.00
57	Front roof inner lining trim	1	\$	535.00	\$	535.00
58	Front roof pillar 30/14mf	2	\$	600.00	\$	1,200.00
59	Front roof inner pillar garnish	1	\$	55.00	\$	55.00 ?
60	Dashboard	1	\$	760.00	\$	760.00 7
61	Rear door 55/suf	2	\$	480.00	\$	960.00
62	Rear door outer handle ols cu?	2	\$	80.00	\$	160.00
63	Rear door outer sticker	2	\$	20.00	\$	40.00 ×
64	Rear fender PO /2404	2	\$	460.00	\$	920.00
65	Rear fender lamp W\$	2	\$	290.00	\$	580.00 ×
66	Rear tailgate	1	\$	600.00	\$	600.00 🗴
67	Rear bumper 7 '	1	\$	240.00	\$	240.00
68	Rear bumper clips	10	\$	2.50	\$	
69	Rear bumper grille LH/RH	2	\$			25.00
70	Rear side retainers LH/RH 34/14	2	\$	20.00	\$	40.00 🗴
71	1 // 1 0 000 1	レニSV3 1		15.00	\$	30.00
		73031	\$	560.00	\$	560.00 50
72	Rear taillamp RH CNA	1	\$	240.00	\$	240.00
73	Rear axle beam assembly	1	\$	750.00	\$	750.00 ?
74	Rear axle beam assembly sensors	2	\$	150.00	\$	300.00X
75 _	Rear shock absorbers /	2	\$	180.00	\$	360.00 ?
				Sub-total	\$	23,783.00
		Add		15%	\$	3,567.45
		Cost Price		Total	\$	27,350.45
	Special Nett Items:					. 11.
1	Front windscreen sealant	1	\$	42.50	\$	42.50
2	Front RH door quarter glass sealant Au	1	\$	30.00	\$	30.00
3	Front number plate with casing 44	1	\$	45.00	\$	45.00 ×
4	Rear windscreen sealant 1	1	\$	42.50	\$	42.50 40
5		1	\$	125.00		
6		1	\$		\$ 75	
U	ERP bracket 1C	1	D	12.00	\$	12.00



VAC AUTO CENTRE PTE LTD UEN: 200210945Z

1 Kaki Bukit Avenue 6 #02-11 Autobay @ Kaki Bukit Singapore 417883

Tel: 8618 8008 | Fax: 6636 5355 | Email: vacauto@singnet.com.sq

Re	egn No :	SLN6256Z Vehicle Make & Model : Honda Ja:	zz 1.5	VTIR CVT
		Labour Charge Items:		
	1	Towing charge	\$	120.00
,	2	To check and rectify electrical wiring systems	\$	200.00 50
pleced	3	To remove and front windscreen glass	\$	150.00120
pleced	4	To remove and front: querter glass	\$	200.00/20
•	5	To remove and refit front dashboard	\$	250.00
	6	To remove and replace interior upholstery, roof lining and other damaged items	\$	400.00/80
	7	To remove and refit front and rear sub-frame assembly and undercarriage member	\$	500.00?
	8	To remove and refit front seat in order to conduct works	\$ /	11180.00 X
	9	To remove, refix aircon condenser and refill aircon gas		12 150.00 X
	10	To remove and refit front radiator and top up coolant	\$ 1.	A STATE OF THE PARTY OF THE PAR
	11	To conduct computerised 4-wheel alignment	\$	180.0080
	12	To diagnose, erase, reset and reprogramme fault memory code after repair	\$	250.00 7
	13	To rust proof affected rear areas	\$	200.00 🗴
	14	To putty, respray painting & etc	\$	2,000.00 7800
	15	Panel beating, cut, weld, remove and replacing above parts	\$	2,700.00 2600
		Labour Charge Total	\$	7,580.00

Overall Estimate Parts & Labour

Grand total

35,227.45

- To resurvey before/after spray painting
- To display damaged part(s) during resurvey
- Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis
- No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature:

5. N-947

SV0021960001 / VAC AUTO CENTRE PTE LTD ENTRY DATE & TIME: 06/09/2021 23:12 (SGT) SUBMITTED BY: LIM PUAY HONG VICTOR VERSION: 1 (06/09/2021 23:12 (SGT))



SINGAPORE ACCIDENT STATEMENT

IMPORTANT NOTICE

Please report <u>correctly</u> the details of the accident to speed up the claims process.

2. This Form must be completed by the Policyholder and/or the Authorised Driver
3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or witholding of material facts may allow insurance companies to repudiate

4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.

4. The issue and acceptance of this Form by insurance companies is not at admission of policy flashing of the part of the mission of policy flashing of the part of the mission of Singapore (GIA) for archiving 5. Any false reporting may be referred to the Police for investigation.

6. This report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will, for a fee, be made available upon application by interested parties.

7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.

ACCIDENT STATEMENT

06/09/2021 23:12 (SGT) Date of Submission Date of Accident **Exact Location of Accident** Additional Location Information

05/09/2021 09:48 (SGT) Near 90 Bras Basah Rd, Esplanade, Singapore 189562 JUNCTION OF BRAS BASAH ROAD/NICOLL HIGHWAY/RAFFLES BOULEVARD Singapore

Country/State of Loss

DETAILS OF OWN VEHICLE

Vehicle Registration Number

SLN6256Z

INSURED/POLICYHOLDER

Is company? Name Of Registered Owner NRIC No

Email Address Mobile Phone No

Alternative Phone No

CHUA QUEE SING DANIEL (CAI GUISHENG)

SXXXX314D

danielcqs@gmail.com (Phone) +65-81012540 (Home) +65-66872086

VEHICLE PARTICULARS

Manufacturer

Model

Exact purpose for which vehicle was being used at time of

Are you claiming under your own insurance policy for repair to your vehicle?

Vehicle Category

Transmission

CC

Honda

Jazz

Private use

Yes

Private car

Auto

1498

INSURANCE COMPANY

Name of Insurance Company

Type of Coverage

Fleet Policy

Policy Number

Cover Note Number

Lonpac Insurance Bhd Comprehensive

Z21VP05029146

DRIVER

Name of Driver

CHUA QUEE SING DANIEL (CAI GUISHENG)



PLINALE	Kefek	To	REVINET	aumonn sammente den uz en eremanns kraundis kielpielikt beste listek heldere ein
		//3		
		-		
		toral multiple		
incontraction of the incontraction and the contraction and the con				
				
				enemente intermente de anniero en expression de la cidad del cidad de paraceperat de creación de significación
mentre en militativo consistence e e e en mode e con militativo del distillo del el distillo del distillo del d				PROPERTY OF THE PROPERTY OF TH
		A SEVIEW CONTROL OF THE		######################################
				######################################
laration				

Driver's Signature (if driver is not the policyholder) / Date & Time

Witnessed by Reporting Centre

Personnel

CASH SALE/
SPEEDWAY RE
Reg No: 529779871

CASH SALE/WORK ORDER

医DWAY RECOVERY SERV

No: B 25818

NOTE: Vehicle is towed at owner's risk. The C	Time:	Remarks	То	From	Vehicle No. SLN 62562	Name/Company	Reg No: 52977287 J
NOTE: Vehicle is towed at owner's risk. The Company accepts no responsibility for damages or other misdemeanour to your vehicle whilst being towed		()	B.B Auto Bay #02-11	fort Rd Heavy Velticle Part	2562 Model Jan	CABH	Singapore Post Centre Post Office P.O. Box 201 Singapore 914007 Tel: 6841 0080 Da
whilst being towed	Amount \$ (20)	Collect Doc/Key Repo Payment	Door Opening Service Crane Up/Winch Out	Transport Charge	☐ With Load (Cargo Box	Jump Start Tyre Replacement	1CE 4007 Date: S/9/21

Tow Truck

www.speedwayrecovery.com Email: speedwaytowing@gmail.com

Received By

SGCARMART.COM

Login Sign up

New Cars

Used Cars

Rental Cars

Sell My Car

Directory

Products

Insurance

Articles

Forum

Resources

Post an Advertisement Sell it yourself! Advertise it at just

\$68 until it's SOLD!

\$648 Monthly. 1.88% Per Annum By GV Cars Financing.



Financing. Full Loan Available. No Admin Fees. No GST GV Automobile Centre StarAd



Browse by Category

Post an Ad

Ways of Selling

« Back (12) Next »

Sort by Date Posted

✓ 20 results/page

27 vehicles

V

Advertiser Login

honda jazz 1.5

Model

Advanced Search

Search Selection

Price Any Depreciation Any

2017

Anv

Eng Cap

Mileage Any Veh Type

Available

honda jazz 1.5

\$9,630 /yr

27-Feb-2017

1,498 cc

82,000 km

Available

Honda Jazz 1.5A RS

\$58,999

No Gimmicks! Price Negotiable, Low Mileage Done 82000KM, 100% Beautiful Condition, Low Depreciation, Low Interest Rate, Most Wort...

Hatchback

Posted: 16-Sep-2021 Tags: 2017 Honda Jazz, Honda Jazz, Honda, Jazz

Honda Jazz 1.5A RS

\$65,800

\$10.510 /vr

29-May-2017

1,498 cc

Hatchback 69,000 km

Available

Viewing By Appointment Only, WhatsApp For Doorstep Viewing. 1.98% Full Loan Package. T8 Gallery Certified Pre Owned Car From Tan...

Posted: 16-Sep-2021 Tags: 2017 Honda Jazz, Honda Jazz, Honda, Jazz



Honda Jazz 1.5A RS

\$61,800

\$9,810 /yr

29-May-2017

1.498 cc

51,000 km

Hatchback

Available

1 Owner Only! Full Agent Maintained And Serviced! Original Nighthawk Black Paintwork! The Most Generous Boot Space And Rear Leg R...

Posted: 16-Sep-2021 Tags: 2017 Honda Jazz, Honda Jazz, Honda, Jazz



Honda Jazz 1.5A RS

\$58,800

\$9,270 /vr

09-May-2017

1,498 cc

69,259 km

Hatchback

Available

The Most Acceptable Hatchback On The Road For It's Reliability, Low Maintenance+Low Fuel Consumption Costs. Good Quality Unit With...

Ka-Hup Vehicles Trading

Posted: 15-Sep-2021 Tags: 2017 Honda Jazz, Honda Jazz, Honda, Jazz



Stylish Brambo 6 Pot Big Brake Kit For Honda

Brembo 6 pot Brake Kit With 355mm Brake Rotor For Honda Model With 18" rim and above.

More info about this product



Honda Jazz 1.5A RS

\$57,800

\$9,540 /yr

02-Mar-2017

1,498 cc

44,644 km

Hatchback

Available

Full Agent Maintained. Most Popular Hatchback, Proven Reliability, In Pristine Conditions, 100% In House And Bank Loan Available. Trad...

Posted: 14-Sep-2021 Tags: 2017 Honda Jazz, Honda Jazz, Honda, Jazz



Compare

Honda Jazz 1.5A RS

\$58,800

23-Feb-2017

1,498 cc

50,000 km

Hatchback

Available

1 Owner Only! Agent Maintained! Tip Tip Condition Like New! Extremely Fuel Efficiency With About 20KM/L! Hot Blue Hatchback! No Re..

This car comes with 6-mth sgCarMart Warranty - the best protection for your car. Learn More

Posted: 13-Sep-2021 Tags: 2017 Honda Jazz, Honda Jazz, Honda, Jazz

Honda Jazz 1.5A RS

\$61,800

\$10,090 /vr

09-Mar-2017

1,498 cc

Hatchback

Available

Kah Motor Unit. One Owner. Complimentary 2 Times Servicing And Additional Extended Warranty Till March 2023 At Kah Motor. Low Mil...



Otopac Motors Pte Ltd

Posted: 13-Sep-2021 Tags: 2017 Honda Jazz, Honda Jazz, Honda, Jazz



\$57,800 \$9,120 /yr 03-May-2017 1,498 cc 72,123 km Hatchback Available Honda Jazz 1.5A RS

New Car Condition With Genuine Low Mileage! Most Popular And Reliable Family's Hatchback. Low Maintenance Cost And Clean And Nea..

Autocars Premium Pte Ltd

Posted: 12-Sep-2021 Tags: 2017 Honda Jazz, Honda Jazz, Honda, Jazz



\$57,800 \$9.680 /vr 23-Jan-2017 1.498 cc 55,000 km Hatchback Available Honda Jazz 1.5A RS

Flexible Financing/Low Monthly Repayment At \$711! 1 Owner. Very Low Mileage Done Only At 54,000km, Has Been Service With Kah M..

Horizon Motorina



Available Honda Jazz 1.5A RS \$57.800 \$9,570 /yr 01-Feb-2017 1,498 cc 65,000 km Hatchback

1 Owner Only! Full Agent Maintained And Serviced! Original Milano Red Paintwork! The Most Generous Boot Space And Rear Leg Room I...

Posted: 11-Sep-2021 Tags: 2017 Honda Jazz, Honda Jazz, Honda, Jazz



Sell with Quotz: Get \$3,000 more than Trade-In

Trading-in? Receive \$3,000 more when you sell your car with sgCarMart Quotz. Get your Free Valuation Today.

Find out more!



61,000 km Available 14-Mar-2017 1,498 cc Hatchback Honda Jazz 1.5A RS \$61,500 \$10.010 /vr

1 Owner, Accident Free, Full Agent Serviced And Warranty Till March 2022, Beautiful Paintwork With Clean And Neat Interior. Bank Or I...

Posted: 11-Sep-2021 Tags: 2017 Honda Jazz, Honda Jazz, Honda, Jazz



\$59,888 \$9,990 /yr 24-Jan-2017 1,498 cc 44,000 km Hatchback Available Honda Jazz 1.5A RS

New Car Condition With Genuine Low Mileage! Most Popular And Reliable Family's Hatchback. Low Maintenance Cost And Clean And Nea.

Posted: 10-Sep-2021 Tags: 2017 Honda Jazz, Honda Jazz, Honda, Jazz



Honda Jazz 1.5A RS \$64,000 \$10,610 /yr 23-Feb-2017 70,000 km Hatchback Available

Accident Free And Fun Daily Drive Car With At Least 16km/l Of Fuel Consumption, Handling Of The Car Is Done Up, Please Take A Look...

DIRECT OWNER

Posted: 10-Sep-2021 Tags: 2017 Honda Jazz, Honda Jazz, Honda, Jazz



Honda Jazz 1.5A RS \$59,800 \$9,660 /yr 30-Mar-2017 1,498 cc 75,000 km Hatchback Available

1 Lady Owner Only! Original Pearly White Paint. Nice Number 3030 To Go Along, Full Agent Service Records. 100% Accident-Free Unit...

Wunder Auto Pte Ltd

Honda Jazz 1.5A RS

Posted: 10-Sep-2021 Tags: 2017 Honda Jazz, Honda Jazz, Honda, Jazz



Honda Jazz 1.5A RS (OPC) \$49,800 \$8,120 /vr 23-Jan-2017 1,498 cc 65,000 km Hatchback Available

\$59800 For Normal Plate. Well Maintained Car By 1 Careful Lady Owner. Genuine Mileage With Low Mileage Done. Most Popular And Rel..

Posted: 08-Sep-2021 Tags: 2017 Honda Jazz, Honda Jazz, Honda, Jazz



Honda Jazz 1.5A \$61,800 \$10,000 /yr 30-Mar-2017 1,498 cc 56,000 km Hatchback Available

11-May-2017

1,498 cc

Ever Popular Unit That Is Superbly Maintained, Low Mileage, With Practical Fuel Consumption. Upholstery Remains As Good As A Showr...

57,468 km

Hatchback

Available



GOwheeler Pte Ltd

\$59,800

\$9,440 /yr 1 Year Warranty, In-House Financing Available. Buy With A Peace Of Mind. 1 Owner. Low Mileage. 100% Genuine Mileage. Well Maintai..

Posted: 05-Sep-2021 Tags: 2017 Honda Jazz, Honda Jazz, Honda, Jazz



SGCARMART.COM

New Cars

Used Cars

Sell My Car Rental Cars

Directory

Products

Insurance

Articles

Login

Forum

Sign up

Resources

Page 1 of 3







honda jazz 1.5

Price Range

Depreciation 🗸

2017

Vehicle Type

Search

Home » Used Cars » Oasis Cars Pte Ltd » Honda Jazz 1.5A RS

Honda Jazz 1.5A RS

Overview

Financial

Accessories

Similar

Research

Photos

Map

Price

\$55,800

Depreciation

\$8,780 /yr

View models with similar depre

Reg Date

02-May-2017

(5yrs 7mths 15days COE left)

Mileage

55,000 km (12.6k /yr)

Manufactured

2016

Road Tax

\$684 /yr

Transmission

Auto

Dereg Value

\$38,842 as of today (change)

OMV

\$17,792

COE

\$52,000

ARF

\$12,792

Engine Cap

1,498 cc

Power

96.0 kW (128 bhp)

Curb Weight

1,046 kg

No. of Owners





Summary

Type of Vehicle

Hatchback

Features

Airbags, ABS. View specs of the Honda Jazz (2014-2021)

Leather Seats, Sports Rims, Audio System With Steering Controls.

1 Owner, Low Mileage, Very Well Maintained By Previous Owner, Warranty By Agent Till May 2022.

Category

PARF Car

Available for sale. Shortlist this car to get alerted whenever the price or availability changes.

Resources



sgCarMart Used Car Warranty

Get \$0 future car repair bill. Ask your dealer for a warranty on this car. Learn more



Afraid of lemons? Request to have this car evaluated professionally. Find out more

Compare Car Valuation - Free

Click on the point to view the vehicle

Shortlist

Compare

Report Error

More

Seller Information

Oasis Cars Pte Ltd

7 vehicles for sale. 12 sold in past 3 mths

9 50 East Coast Road #01-25 Roxy Square Search cars nearby

> Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars

Owner ID Type: Singapore NRIC

Owner ID: 314D

Vehicle Details

Vehicle No.: SLN6256Z

Vehicle to be Exported:

Intended Deregistration Date: 16 Sep 2021
Webigle Make: HONDA

Vehicle Make: HONDA

Vehicle Model: JAZZ 1.5 VTIR CVT ABS D/AIRBAG 2WD

Primary Colour:

Manufacturing Year:

Black
2016

Engine No.: L15B31190848

Chassis No.: JHMGK5850HX201177

Maximum Power Output: 96.0 kW (128 bhp)

Open Market Value: \$17,647.00
Original Registration Date: 11 May 2017

First Registration Date: 11 May 2017

Transfer Count: 0

Actual ARF Paid: \$12,647.00 6323

Intended PARF Rebate Details

PARF Eligibility: Yes

PARF Eligibility Expiry Date: 10 May 2027
PARF Rebate Amount: \$9,485.00

Intended COE Rebate Details

COE Expiry Date: 10 May 2027

COE Category: A - Car up to 1600cc & 97kW (130bhp)

COE Period(Years): 10

QP Paid: \$52,000.00 COE Rebate Amount: \$29,375.00

Total Rebate Amount: \$38,860.00

The information contained herein is correct as at 16 Sep 2021

OK